
Push Up Stand Bar(10000829)



Bolt:(M8*16)

6X

Arc washer:(φ8)

6X

73
5m

m

610mm
385

mm

Maximum load 200KG



1

M8
*1
6

φ
8

M8
*1
6

φ
8

φ
8

φ
8

M8
*1
6

M8
*1
6

M8*16 φ8

M8*16

φ8

Arc washer(φ8)-6PCS Bolt(M8*16)-6PCS


